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ML & LK E AR R R R

— AAEFAA - ER224E9 H TH
A A 7 ﬁ?ﬁ(&%ﬁfm Y H A A A B AE A BREEIE

HH (B oy g 8 (Z474%) (A 048 (& Afigkn) (FENHAKRBOK D) T AN | ST )1 A
A B AR R 10:15 10:55 13:50 12:35 fLEP —

R =y -3 &Y &Y —

Rl (C) 28.0 27.0 27.6 27.5 —
JrakAE (BrK) (m) 88.03 88. 03 — — —
AR (ki) (m*/s) 78.12 78. 12 — — —
e (Brk) (m*/s) 79.74 79.74 — — —
FHRE (I (cm) — — >100 >100 —
FERE (rKH) (m) 6.2 6.4 — — —

ARt (ki) 6 6 — — —
RIKTE (m) 8.0 7.0 0.8 3.0 —

FK KR (m) 0.5 4.0 7.0 0.5 0.2 0.6 —

S8 I £2,3%5 B I £2,3%5 B I £2.3%5 B I £2,3%5 B I £2,3%5 B I £2,3%5 B —

B (HRE) i 5 i 5 i 5 i 5 i 5 5 —

KR (C) 23.1 22.6 22.6 21.2 21.6 23.0 —

B (%) 1.6 1.8 2.0 1.8 1.8 2.2 —

DO (mg/1) 9.0 8.5 8.5 8.6 8.9 8.4 —
ERREE (mS/m) 6.6 6.6 6.5 6.3 6.1 6.7 —

B (1)) (ERNZH) () 1.3 1.1 1.2 0.9 1.0 1.6 —

DO (FEWN 4 HT) (mg/1) 8.4 8.5 8.6 8.8 9.1 8.5 7.500 F

pH (24°C) 7.8 7.7 7.6 7.6 7.7 7.7 6.50L E8. 5L
BOD (mg/1) 0.3 0.2 0.2 0.2 0.2 0.3 1L \ 2LLF
COD (mg/1) 1.7 1.7 1.6 1.5 1.6 1.7 —

SS (mg/1) 1.1 0.8 1.7 0.6 1.5 2.0 25LLF
KIGEEFER (MPN/100m1) 2, 200 790 790 2,200 7,900 3, 300 50LLF | 1,000LLF
EHE (mg/1) 0. 195 0. 200 0. 190 0. 190 0.177 0. 200 —
oA (mg/1) 0. 007 0. 008 0. 008 0. 007 0. 008 0. 009 —
Va=2=0 P P (mg/m®) 1.7 1.6 1.7 1.1 1.3 2.0 —
HisREEFR (mg/1) 0. 160 0. 159 0. 160 0. 160 0. 152 — —
BRI (mg/1) 0. 002 0. 002 0. 002 0. 002 0. 002 — —
TR AHEES (mg/1) 0. 007 0. 001 0. 002 0. 002 0. 006 — —
AR ABERED A (mg/1) 0. 002 0.001 0. 002 0. 002 0. 002 — —
TRERVERR D A (mg/1) 0. 004 0. 004 0. 004 — — — —
VARPEAL 0 ABRTEY A (mg/1) 0. 000 0. 000 0. 000 — — — —
T2t T 4 F v a (mg/m®) 0.5 0.6 0.7 — — — —

i (mg/1) 0. 000 — — — — — 0.03LLF
OMIB (ng/1) — — — — — — —
A AI (ng/1) — — — — — — —
hUoNm X H R (mg/1) — — — — — — —
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ML & LK E AR R R R

— AAEFAA - FEk224:10A8H
AR 7 ﬁ?ﬁ“&%ﬁfmg B H A A H A B A A BRELIEE
HH (B oy g 8 (Z474%) (AR A% (& nfgkn) (ENHAKBOK D) T AN | ST )1 A
A B AR R 9:55 10:55 13:20 14:20 — —
R =3 55} 5§ 5 — —
iR (C) 18.8 19.0 18.6 18.7 — —
JrakAE (BrK) (m) 87.85 87.85 — — — —
AR (ki) (m*/s) 33.23 33.23 — — — —
e (Brk) (m*/s) 29. 68 29. 68 — — — —
FHRE (I (cm) — — >100 >100 — —
FERE (rKH) (m) 3.5 >7.2 — — — —
ARt (ki) 8 8 — — — —
RIKTE (m) 8.4 7.2 0.8 3.0 — —
FK KR (m) 0.5 4.2 7.4 0.5 0.2 0.6 — —
S8 I £2,3%5 B I £2,3%5 B I £2.3%5 B I £2,3%5 B I £2,3%5 B I £2,3%5 B — —
B (HRE) i 5 i 5 i 5 i 5 i 5 5 — —
KR (C) 19.2 19.1 18.8 18.4 18.9 19.2 — —
B (%) 3.2 3.1 3.4 2.4 2.0 3.9 — —
DO (mg/1) 9.5 9.6 9.4 9.2 9.4 9.2 — —
ERREE (mS/m) 7.5 7.8 7.8 8.2 7.9 8.0 — —
B (1)) (ERNZH) () 2.4 2.3 2.7 1.4 1.0 2.0 — —
DO (FEWN 4 HT) (mg/1) 9.0 8.8 9.0 9.2 9.2 9.0 — 7.500 F
pH (22°C) 7.4 7.5 7.5 7.6 7.7 7.6 — 6.50L E8. 5L
BOD (mg/1) 0.3 0.2 0.2 0.3 0.3 0.3 — 1L \ 2LLF
COD (mg/1) 1.9 1.9 1.8 1.4 1.1 2.0 — —
SS (mg/1) 1.0 0.7 2.0 1.4 0.6 1.5 — 25LLF
KIGEEFER (MPN/100m1) 1, 300 790 3, 300 790 1, 300 1,700 — 50LLF | 1,000LLF
EHE (mg/1) 0. 453 0. 450 0. 432 0. 370 0.372 0.471 — —
oA (mg/1) 0.012 0.010 0.012 0. 008 0. 006 0.011 — —
Va=2=0 P P (mg/m®) 1.7 1.4 0.6 0.3 0.5 1.7 — —
HisREEFR (mg/1) 0. 405 0. 397 0. 394 0. 344 0.319 — — —
BRI (mg/1) 0. 002 0. 002 0. 002 0. 002 0. 002 — — —
TR AHEES (mg/1) 0. 009 0. 007 0.010 0.012 0.010 — — —
AR ABERED A (mg/1) 0.003 0.003 0. 004 0. 004 0. 004 — — —
TRERVERR D A (mg/1) 0. 005 0. 005 0.003 — — — — —
VARPEAL 0 ABRTEY A (mg/1) 0. 001 0. 002 0. 002 — — — — —
Tx2A T 4 F v a (mg/m®) 0.7 0.7 0.5 — — — — —
i (mg/1) 0. 005 — — — — — — 0.03LLF
2MTB (ng/1) — — — — — — — —
VaxFAIV (ng/1) — — — — — — — —
MU B RS R (mg/1) — — — — — — — —
B E H R e g i) 1 ASE T 1) 1| AR il ) 1| AAJE RS ) 1| AR $ ) 1| AR




ML & LK E AR R R R

— AAEFAA - FEk224E11LA 2H
AHBHA 7 ﬁ?ﬁ“&%ﬁfmg B H A A H A5 B A A BREEIEE
HH (B oy g 8 (Z1#8) (A O AE) (& nfgkn) (ENHAKBOK D) T AN | ST )1 A
A B AR R 9:55 11:30 14:00 12:45 10:45 —
R i Fiu AL AL Eil —
iR (C) 15.0 15.6 17.8 16.0 15.5 —
JrakAE (BrK) (m) 88.01 88.01 — — 88.01 —
AR (Br7KHL) (m*/s) 36.31 36. 31 — — 36. 31 —
i (Fr7Ki) (n*/s) 29.51 29.51 — — 29.51 —
FHRE (I (cm) — — >100 >100 — —
FERE (rKH) (m) 5.4 4.4 — — 4.7 —
ARt (ki) 8 8 — — 8 —
ARG (m) 8.4 6.5 0.8 3.0 5.0 —
FK KR (m) 0.5 4.2 7.4 0.5 0.2 0.6 0.5 —
S8 I £2,3%5 B I £2,3%5 B I £2.3%5 B I £2,3%5 B I £2,3%5 B I £2,3%5 B I £2,3%5 B —
B (HRE) 5L i 5 i 5 i 5 i 5 5 i 5 —
KR (C) 14.7 14.7 14.7 14. 6 15. 4 14.9 14.7 —
B (%) 1.4 1.5 1.6 1.6 0.9 1.5 1.4 —
DO (mg/1) 9.9 9.9 9.9 10.1 10.5 9.8 10.3 —
ERREE (mS/m) 8.7 8.7 8.8 9.1 9.2 9.4 9.1 —
B (1)) (ERNZH) () 1.0 1.1 1.2 1.4 0.6 1.2 — —
DO (FEWN 4 HT) (mg/1) 10.0 10. 1 10.2 9.9 10.7 10.1 — 7.500 F
pH (20°C) 7.6 7.6 7.7 7.8 7.8 7.8 — 6.50L E8. 5L
BOD (mg/1) 0.4 0.3 0.4 0.3 0.5 0.4 — 1L \ 2LLF
COD (mg/1) 1.5 1.5 1.5 1.8 1.7 1.5 — —
SS (mg/1) 1.0 1.3 1.3 0.8 0.5 0.9 — 25LLF
KIGEEFER (MPN/100m1) 1,100 490 3, 300 1, 300 3, 300 700 — 50LLF | 1,000LLF
EHE (mg/1) 0.278 0. 307 0.310 0. 383 0. 453 0. 310 — —
oA (mg/1) 0. 008 0. 008 0. 007 0. 008 0. 007 0. 008 — —
Va=2=0 P P (mg/m%) 0.9 0.8 0.8 0.9 1.0 1.1 — —
HisREEFR (mg/1) 0. 265 0.272 0. 265 0. 358 0. 424 — — —
BRI (mg/1) 0. 002 0. 002 0. 002 0. 002 0. 004 — — —
TR AHEES (mg/1) 0.010 0. 032 0. 039 0.013 0.016 — — —
AR ABERED A (mg/1) 0. 002 0. 002 0. 002 0. 002 0. 002 — — —
TRERVERR D A (mg/1) 0. 004 0. 004 0. 005 — — — — —
VARPEAL 0 ABRTEY A (mg/1) 0. 001 0. 001 0. 001 — — — — —
Tx2A T 4 F v a (mg/m®) 0.4 0.5 0.5 — — — — —
i (mg/1) 0. 005 — — — — — — 0.03LLF
OMIB (ng/1) 0 — — — — — 0 —
A AI (ng/1) 1 — — — — — 1 —
MU v X &R (mg/1) 0.018 — — — — — 0. 020 —
PR E R T i) 1 ASE T 1) 1| AR il ) 1| AAJE RS ) 1| AR $ ) 1| AR
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AAEFAA - SERk224E12H 7 H

IR 5ﬁ§f§%§?ﬁ Y H A A5 B % A A BRELIEE

HH (B oy g ‘ 8 (Z474%) (0 A% (& nfgkn) (FNRAKBUKA) T AN | ST )1 A
A B AR R 11:10 11:45 9:50 13:50 — —
R Y -3 -y -3 — —
iR (C) 10.0 10.0 10.0 10.0 — —
JrakAE (BrK) (m) 87.98 87.98 — — — —
AR (ki) (m*/s) 28.18 28.18 — — — —
He e (ki) (m’/s) 32.63 32.63 — — — —
FHRE (I (cm) — — >100 >100 — —
FERE (rKH) (m) 3.2 5.2 — — — —
ARt (ki) 11 8 — — — —
RIKTE (m) 8.2 6.7 0.8 3.0 — —
FK KR (m) 0.5 4.1 7.2 0.5 0.2 0.6 — —
S8 I £2,3%5 B I £2,3%5 B I £2.3%5 B I £2,3%5 B I £2,3%5 B I £2,3%5 B — —
B (HRE) i 5 i 5 i 5 i 5 i 5 5 — —
KR (C) 9.8 9.8 9.7 9.1 10.5 9.8 — —
B (%) 2.6 2.5 2.5 1.1 1.0 2.0 — —

DO (mg/1) 10. 7 10. 7 10. 7 1.1 11.0 11.0 — —
ERREE (mS/m) 8.0 8.0 8.1 8.1 8.1 8.0 — —
B (1)) (ERNZH) () 2.4 2.2 2.3 1.1 0.7 2.0 — —

DO (FEWN 4 HT) (mg/1) 10. 7 10.9 10.9 11.2 11.3 11.0 — 7.500 F
pH (21°C) 7.5 7.5 7.5 7.6 7.6 7.6 — 6.50L E8. 5L
BOD (mg/1) 0.3 0.3 0.2 0.2 0.2 0.2 — 1L \ 2LLF
COD (mg/1) 2.3 2.2 2.2 1.8 1.6 2.3 — —

SS (mg/1) 2.0 1.6 1.6 0.3 0.2 1.2 — 25LLF
KIGEEFER (MPN/100m1) 1, 300 1, 100 790 330 790 490 — 50LLF | 1,000L8L F
EHE (mg/1) 0. 392 0. 384 0. 389 0.373 0. 345 0. 398 — —
oA (mg/1) 0. 009 0. 007 0. 008 0. 007 0. 007 0. 008 — —
Va=2=0 P P (mg/m%) 0.9 0.9 0.8 0.6 1.8 0.9 — —
HfEiEE R (mg/1) 0. 350 0. 344 0. 342 0. 340 0.291 — — —

il ]2 EE S (mg/1) 0. 002 0. 002 0. 002 0. 002 0. 002 — — —
TR AHEES (mg/1) 0. 004 0. 006 0. 006 0. 007 0. 006 — — —
AR ABERED A (mg/1) 0. 002 0. 002 0. 002 0. 003 0. 002 — — —
TRERVERR D A (mg/1) 0. 004 0. 005 0. 004 — — — — —
VARPEAL 0 ABRTEY A (mg/1) 0. 000 0. 000 0. 001 — — — — —
Tx2A T 4 F v a (mg/m®) 0.8 0.7 0.7 — — — — —
High (mg/1) 0. 003 — — — — — — 0. 03LLF
2MTB (ng/1) — — — — — — — -
VAR (ng/1) — — — — — — _ _
hUoNm X H R (mg/1) — — — — — — — —

PR E R e T i) 1 ASE T 1) 1| AR il ) 1| AAJE RS ) 1| AR $ ) 1| AR
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R — AAEFAA - ER234E1 ] 6H
AR 7 ﬁ?ﬁ“&%ﬁfm Y H A A B % A A BREEIEE

HH (B oy g 8 (Z454%) (A 048 (& nfgkn) (FNFAAKBUKA) T AN | ST )1 A
A B AR R 10:40 12:10 15:00 13:35 —

R 3 -3 &Y &Y — —

iR (C) 3.8 4.3 4.6 4.5 —

JrakAE (BrK) (m) 87.84 87.84 — — — —
AR (ki) (m*/s) 32. 02 32.02 — — —

i (Brku) (m*/s) 32.01 32.01 — — — —
FHRE (I (cm) — — >100 >100 —

FEAE (r/KH) (m) >8.0 6.5 — — — —

ARt (ki) 8 8 — — —

RIKVE (m) 8.0 6.5 0.8 3.0 — —

FK KR (m) 0.5 4.0 7.0 0.5 0.2 0.6 —

S8 I £2,3%5 B I £2,3%5 B I £2,3%5 B I £2,3%5 B I £2,3%5 B I £2,3%5 B — —

B (HE) i 5 i 5 i 5 i 5 5 51 —

KR (C) 5.7 5.6 5.6 5.8 6.3 5.7 — —

B (%) 0.5 0.5 0.5 0.3 0.2 0.3 —

DO (mg/1) 12.0 12.0 12.0 12.0 12.0 12.1 — —
ERREE (mS/m) 7.2 7.2 7.2 6.9 6.2 7.1 — —

B (1)) (ERNZH) (F£) 0.4 0.5 0.4 0.2 0.2 0.3 — —

DO (ZEWN 4 HT) (mg/1) 12.1 12.1 12.1 12.1 12.5 12.3 — 7.500 F

pH (20°C) 7.6 7.6 7.8 7.6 7.6 7.7 — 6.50L E8. 5L
BOD (mg/1) 0.7 0.7 0.7 0.4 0.3 0.6 — 1ILF \ 2LLF
COD (mg/1) 1.1 1.0 1.2 1.1 1.1 1.1 — —

SsS (mg/1) 0.2 0.0 0.0 0.0 0.0 0.0 — 25LLF
KIGEEFERL (MPN/100m1) 130 70 49 330 46 79 — 50LLF | 11,0004 F
EHE (mg/1) 0. 256 0. 256 0.278 0.222 0.211 0.247 — —
oA (mg/1) 0. 004 0.003 0.003 0.003 0. 003 0. 003 — —
Va=2=0 P 2P (mg/m%) 0.4 0.4 0.5 0.6 0.6 0.5 — —
HfEiEE R (mg/1) 0. 241 0. 245 0. 245 0.217 0. 200 — — —

il ]2 EE S (mg/1) 0. 002 0. 002 0. 002 0. 002 0. 001 — — —
TR AHEES (mg/1) 0. 005 0. 006 0. 009 0. 002 0. 003 — — —
AR ABERED A (mg/1) 0.001 0.001 0.001 0. 001 0. 001 — — —
TRERVERR D A (mg/1) 0. 002 0. 002 0. 002 — — — — —
VARPEAL 0 ABRTEY A (mg/1) 0. 000 0. 000 0. 000 — — — — —
Tx2A T 4 F v a (mg/m®) 0.3 0.4 0.4 — — — — —

i (mg/1) 0. 004 — — — — — — 0. 034 F
OMIB (ng/1) — — — — — — — —
A AI (ng/1) — — — — — — — —
hUoNm X H R (mg/1) — — — — — — — —

PR E R e T i) 1 ASE T 1) 1| AR il ) 1| AAJE RS ) 1| AR $ ) 1| AR
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R — AAEFAA - ER234E2 ] LH
AR 7 ﬁ?ﬁ“&%ﬁfm Y H A A B % A A BREEIEE

HH (B oy g 8 (Z1#8) (A 048 (& nfgkn) (ENHAKRBOK D) T AN | ST )1 A
A B AR R 11:20 10:15 13:45 14:50 10:50 —

R 3 FAL -y &Y FiL —

iR (C) 4.3 3.8 4.5 4.5 4.0 —
JrakAE (BrK) (m) 87.91 87.91 — — 87.91 —
AR (Br7KHL) (m*/s) 27.52 27.52 — — 27.52 —
i (Fr7Ki) (n*/s) 30. 89 30. 89 — — 30. 89 —
FHRE (I (cm) — — >100 >100 — —
FEAE (r/KH) (m) >8.0 >7.0 — — >4.7 —

ARt (ki) 8 8 — — 8 —
RIKVE (m) 8.0 7.0 0.8 3.0 4.7 —

FK KR (m) 0.5 4.0 7.0 0.5 0.2 0.6 0.5 —

S8 I £2,3%5 B I £2,3%5 B I £2,3%5 B I £2,3%5 B I £2,3%5 B I £2,3%5 B I £2,3%5 B —

B (HE) 5L i 5 i 5 i 5 5 i 5 i 5 —

KR (C) 4.2 4.2 4.2 4.0 4.9 4.3 4.1 —

B (%) 0.7 0.5 0.4 0.5 0.3 0. 4 0.5 —

DO (mg/1) 12.4 12.3 12.3 12.5 12.6 12.6 12. 4 —
ERREE (mS/m) 7.8 7.9 7.9 8.4 7.0 7.6 7.9 —

B (1)) (ERNZH) (F£) 0.8 0.8 0.9 0.7 0.7 0.7 — —

DO (ZEWN 4 HT) (mg/1) 12.7 12.6 12.5 12.9 13.1 12.7 — 7.500 F

pH (20°C) 7.7 7.6 7.6 7.6 7.6 7.6 — 6.50L E8. 5L
BOD (mg/1) 0.1 0.1 0.1 0.2 0.1 0.2 — 1ILF \ 2LLF
COD (mg/1) 1.1 1.0 1.2 1.2 1.2 1.2 — —

SsS (mg/1) 0.1 0.1 0.4 0.0 0.0 0.0 — 25LLF
KIGEEFERL (MPN/100m1) 110 94 130 490 33 49 — 50LLF | 11,0004 F
EHE (mg/1) 0.231 0.234 0.228 0.272 0.222 0.242 — —
oA (mg/1) 0.003 0.003 0.003 0.003 0. 003 0. 003 — —
Va=2=0 P 2P (mg/m%) 0.4 0.4 0.5 0.4 0.5 0.4 — —
HisREEFR (mg/1) 0. 204 0. 209 0. 209 0.237 0.195 — 0. 220 —
BRI (mg/1) 0. 002 0. 002 0. 002 0.003 0. 003 — 0. 003 —
TR AHEES (mg/1) 0. 001 0. 001 0.013 0. 028 0. 001 — — —
AR ABERED A (mg/1) 0. 000 0.001 0. 000 0. 000 0. 000 — — —
TRERVERR D A (mg/1) 0. 002 0. 002 0.003 — — — — —
VARPEAL 0 ABRTEY A (mg/1) 0. 000 0. 000 0. 000 — — — — —
Tx2A T 4 F v a (mg/m®) 0.3 0.2 0.2 — — — — —

i (mg/1) 0. 001 — — — — — — 0. 034 F
OMIB (ng/1) 0 — — — — — 0 —
A AI (ng/1) 1 — — — — — 1 —

MU v X &R (mg/1) 0.013 — — — — — 0.013 —

PR E R e T i) 1 ASE T 1) 1| AR il ) 1| AAJE RS ) 1| AR $ ) 1| AR
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NSRS AAEFAA - ER234E3 LH
PRI A 7 ﬁiffﬁfﬁfﬂ HBHL e A Heite PSEPS BRETIEE

HE (A oy g 58 (Z474%) (1R O AE) (& 1K) (FNFAARBUK ) TN AN | ST )1 A
A BH AR R 10:50 11:30 9:30 12:50 — —

R il 5§ 55 5§ — —

Rl (C) 7.8 8.0 8.3 8.2 — —
JrakAE (B7K) (m) 88. 04 88. 04 — — — —
AR (Fr7KH) (m*/s) 62.81 62.81 — — — —
T (ki) (m’/s) 59. 36 59. 36 — — — —
FHHRE (I (cm) — — >100 >100 — —
FEIAEE (rKi) (m) 6.3 1.3 — — — —

ARt (ki) 8 8 — — — —
BIKVE (m) 8.0 7.1 0.6 3.0 — —

FK KR (m) 0.5 4.0 7.0 0.5 0.1 0.6 — —

S8 I £2,3%5 B I 2,325 B I 2,325 B I 2,325 B I 2,325 B I £2,3%5 B — —

B (W) i 5L i 5 I 5 i 5L i 5 i 5 — —

JKIR (C) 8.3 8.1 8.0 8.5 9.2 8.4 — —

fialiy () 1.1 1.2 1.2 10.6 0.6 1.1 — —

DO (mg/1) 11.2 11.3 11.4 11.2 11.2 11.3 — —
ELREE (mS/m) 8.6 8.8 8.9 7.4 8.1 8.6 — —

B (1)) (EENSHT) (B) 1.2 1.0 1.1 9.7 0.7 1.3 — —

DO (ZEN43HT) (mg/1) 11.7 11.7 11.8 11.6 11.6 11.5 — 7.50 k
pH (20°C) 7.5 7.5 7.5 7.5 7.6 7.6 — 6.50L E8. 5L
BOD (mg/1) 0.5 0.3 0.3 0.3 0.2 0.3 — AT | 2BF
COD (mg/1) 1.1 1.0 1.0 1.8 1.1 1.2 — —

SS (mg/1) 0.9 1.3 0.8 8.9 0.8 1.1 — 25LLF
RIGBE R (MPN/100m1) 1, 300 330 240 170 330 490 — 50LAF | 1,000LL F
wEEFR (mg/1) 0. 442 0. 437 0. 448 0. 442 0. 353 0. 464 — —
A (mg/1) 0. 005 0. 006 0.012 0.016 0. 007 0. 008 — —
Va=2=0 P 7 (mg/m%) 1.1 0.9 0.9 2.7 1.0 1.4 — —
HfEEER (mg/1) 0. 394 0. 400 0. 408 0.378 0.316 — — —

il ]2 EE (mg/1) 0. 002 0. 002 0. 002 0. 002 0. 002 — — —
TR AR (mg/1) 0. 009 0. 008 0. 008 0. 009 0. 008 — — —
R0 ABERED A (mg/1) 0. 002 0. 002 0. 002 0. 006 0. 002 — — —
TRERVERR D A (mg/1) 0. 004 0. 004 0. 003 — — — — —
VARPEAL 0 ABRTEY A (mg/1) 0. 001 0. 001 0. 001 — — — — —
T4 T 4 F v a (mg/m®) 0.3 0.3 0.2 — — — — —

i (mg/1) 0. 002 — — — — — — 0. 034 F
2MIB (ng/1) — — — — — — — —
A AI (ng/1) — — — — — — — —

hU o~ X & UERRRE (mg/1) — — — — — — — —

DR R T i) 1A ) 1| AR i) 1| AAJE Y I ) 1| AR 1 ) 1| AR






